
⃗FA/B = k
qAqB

d2
⃗uAB

A

B

⃗uAB

⃗FB/A

⃗FA/B
qA > 0

qB < 0
A

B

⃗uAB

⃗FB/A

⃗FA/B

qA > 0

qB > 0
A

B

⃗uAB

⃗FB/A

⃗FA/B

qA < 0

qB < 0

B

⃗uAB

⃗FB/A

⃗FA/B
qA < 0

qB > 0

A

⃗FA/B = qB × ⃗EA

⃗EA = k
qA

d2
⃗uAB

Unité : N C-1 ou V m-1⋅ ⋅

Champs

Champ électrostatique

Force d’interaction électrostatique

A

B

⃗uAB

⃗FB/A

⃗FA/B
mA

mB

d

⃗FA/B = − G
mAmB

d2
⃗uAB

⃗𝒢A = − G
mA

d2
⃗uAB

Unité : N kg-1 ou m s-2⋅ ⋅

⃗FA/B = mB × ⃗𝒢A

Champ gravitationnel

Force d’interaction gravitationnelle

+ −

Forces


